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Materials For Examiner's Use
« You must have the AQA Formulae for A-level Mathematics booklet.
« You should have a graphical or scientific calculator that meets the Question Mark

requirements of the specification. 1
Instructions 2
« Use black ink or black ball-point pen. Pencil should only be used for drawing. 3
« Fill in the boxes at the top of this page.
o Answer all questions. 4
« You must answer each question in the space provided for that question. 5

If you need extra space for your answer(s), use the lined pages at the end of

this book. Write the question number against your answer(s). 6
« Show all necessary working; otherwise marks for method may be lost. 7
« Do all rough work in this book. Cross through any work that you do not want

to be marked. 8

9

Information
o The marks for questions are shown in brackets. 10
o The maximum mark for this paper is 80. 11
Advice 12
« Unless stated otherwise, you may quote formulae, without proof, from the 13

booklet. 14
« You do not necessarily need to use all the space provided.
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Section A

Answer all questions in the spaces provided.

1 Find the coefficient of the x term in the binomial expansion of (3 + .\)4

Circle your answer.

[1 mark]
12 27 54
! dy.a 't d?y
2 Given that —=- find —5
I dxx dx?
Circle your answer.
[1 mark]

|
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3 The graph of the equation y = - is translated by the vector "
3 (a) Write down the equation of the transformed graph.
[1 mark]
- _;—
1 - <
3 (b) State the equations of the asymptotes of the transformed graph.
[2 marks]
o =D
=0
v
Turn over for the next question
TS i T z Turn over p

e
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4 ABCD is a trapezium where A is the point (1, —2), B is the point (7, 1) and C is the box
point (3, 4) <
DC is parallel to AB. D
@
AD is perpendicular to AB.
4 (a) (i) Find the equation of the line CD. O
| A [2 marks]
| |
aadi ent ) = S ~ 3 = L
J e b e
F -
= )
j -4 * 5 (- 3 )
2 b‘ = oc 48
1
4 (a) (i) Show that point D has coordinates (-1, 2) |
[3 marks]
| Grocuent DA = = bl =~ T2
| (')
line AD:
ﬁ-*l z =9 f of =]
g % 1 = =%€¢r) T b, &
J J

intewsechcn  beriioen y - 2% _cind 23 ot S

~ Gy s 5e 4 O % = =4
QoY e qE=Qoc g == 3 (-1) uw-2
J — J
=448

e
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4 (b) (i) Find the sum of the length of AB and the length of CD in simplified surd form.

[2marks]‘
pg- Jex+3> - Jao - 305
cCp = ,i4'1+7_7— " & L0 i Zvr';

AR e 8 =" 5{5

4 (b) (i) Hence, find the area of the trapezium ABCD.
[2 marks]

e
0 - 5B lengen  AD

AD : Jazear - 205

T (s/5)(2JS)
s

_ e Turn over »
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5 (a) Sketch the curve outskl the
y=x (1)2(3 - X) where 0 <a <3
indicating the coordinates of the points where the curve and the axes meet.
[4 marks]
Va
( C L
~
0 KR
K‘“l‘"') ({3 ,0/
‘l
{
5 (b) Hence, solve
(x-a’3-x)>0
giving your answer in set notation form.
[2 marks]
Y < A
L € 2B
{ x:0<x<3, x # a}l
06 Jun21/7356/1
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A curve has the equation y = ¢ &
At point P on the curve the tangent is parallel to the line x+8y =5

Find the coordinates of P stating your answer in the form (Inp, ¢), where p and g are
rational.

[7 marks]
p= "
J
-2
Srqdkem - -2e
O[(l(ilﬁﬂr ('\'? X% + Xu: 6 U = ~<:\-u:£ + S
J ’ Y :
=
o P accurs wnen T i -%‘;
- ke ik
e** -1k
Jem = 4H0L
Y = = 1alk
= NS
-21N N6 \
i = 4 p=€ B et
\) \j e\\'\\'o
u: ._‘_
\J TG

Turn over »
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7 Scientists observed a colony of seabirds over a period of 10 years starting in 2010. box

They concluded that the number of birds in the colony, its population P, could be
modelled by a formula of the form

P = a(10")

where 1 is the time in years after 2010, and a and b are constants.

7 (a) Explain what the value of a represents.
[1 mark]
QL represealS the uwaal popu La1ion
7 (b) Show that logqg P = bt + logqga
[2 marks]
B =l ples
- br
‘anof - \OQ\O(G,\O )
J J b¥
\08.0‘) = 1p0eQ +10a,10%
| * logeQ + bt -
| J
7 (c) The table below contains some data collected by the scientists.
Year 2013 2015
t 3 5
P 10200 12800
logyo P 4.0086 |4 ,|\0F2
7 (c) (i) Complete the table, giving the logqg P value to 5 significant figures.
[1 mark]

i
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7 (c) (i) Use the data to calculate the value of a and the value of b. o
[4 marks]
VSIng \ng P = bt + 100,604
®_4.0086 "3%b + logwa
) _4.10%2 - 25b+ joqod
LJ
©-0: 26-0.09%8 b :0.6493
g.00%bL = 3¢(0-0493) + 09,00
J
IUO\.(\Q_ 2 3 8 (:0-‘"
a = 296
7 (c) (iii) Use the model to estimate the population of the colony in 2024.
[2 marks]

t=)4 oa=%25L b=0.0493

148 6O .ou<\z))

7266 (10
258599

| p

11}

Question 7 continues on the next page

Turn over p
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7 (d) (i) State an assumption that must be made in using the model to estimate the population T
of the colony in 2024.

[1 mark]
The varuo of constant b doees not change
alip 2020

7 (d) (i) Hence comment, with a reason, on the reliability of your estimate made in part (c)(iii).
[1 mark]

ot \m& rebuapno heCaiisSe (ks (‘,ncg based an

daxa hm 2 yeas

i
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8 (a) (i) Show that the equation

i

12

3sinftanf =5cos 0 — 2

is equivalent to the equation

(4cosf —3)(2cosl +1)=0

Maths Made Easy
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[3 marks]

1)5”\9 aNe =sin® 3310?C = SO —2

0SSO

COS®

2an*© * cosTO - 200SE

{LQmS <IN*© + COs*© = 3
RC 1-c0520) = 5005t - 2c0s3O

3 -3¢

0820 = G080 - 2¢0s0

ZceSZTO® - 2008 -3 =0

{ FCo8®

-2 (2ces@ +1) =0

8 (a) (ii) Solve the equation

for —180° < ) < 180°

Gcos®&

3sinftanf) = 5cos ) — 2

=2 2¢0s@ = -4

[2 marks]

© = 4l

47 ©:190"

Jun21/7356/1
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8 (b) Hence, deduce all the solutions of the equation e
L 1 1
35|n(§0) tan<§0> = Sws(i()) -2
for —180° < 0 < 180°, giving your answers to the nearest degree.
" [2 marks]
= B r o
2 © = -4l.-4 gqnd -120
+
©:=- %3
1
\!
| Turn over for the next question
l
i
=== ] o o Turn over »
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9 A curve has equation

a c
Y= — ’)A“z + —= forx>0
p X 3

VX

where a, b and ¢ are positive constants.

The curve has a single turning point.

Use the second derivative of y to determine the nature of this turning point.
You do not need to find the coordinates of the turning point.

Fully justify your answer.

[7 marks]
i - 2 -3
= QLo + br™ ¥ g%
J
1 .~Ph =4
dy = “yax s dhoe - Seo
ac
-5/ 5
d2y z,-glagc 1+ 9k 4 esc
dec? K
A, b,c are all poste
SO each rerm vl be posSUUlo
d*y >0 S6 ELUrning QoiNt (S A mMinuMon
St )

i
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Section B

Answer all questions in the spaces provided.

3
10 Two forces [_2} N and [ 5] N act on a particle.

Find the resultant force.

Circle your answer.

[ ] LI i

[1 mark]

1" Jackie says:

“A person’s weight on Earth is directly proportional to their mass.”
Tom says:
“A person’s weight on Earth is different to their weight on the moon.”
Only one of the statements below is correct.
|dentify the correct statement.

Tick (v') one box.
[1 mark]

Jackie and Tom are both wrong.

Jackie is right but Tom is wrong.

Jackie is wrong but Tom is right. ‘

|
Jackie and Tom are both right. ‘

‘ ) ' |
16 Jun21/7356/1 l
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12 A particle P lies at rest on a smooth horizontal table. box
A constant resultant force, F newtons, is then applied to P.

8
As a result P moves in a straight line with constant acceleration [6] ms—?

12 (a) Show that the magnitude of the acceleration of P is 10ms 2

[1 mark]
o B L2 - 10
112 (b) Find the speed of P after 3 seconds.
[1 mark]

w=0 oa-10 t=5
v - 0+ 3(10) - 3oms™

\
112 (c) Given that F = [125} N, find the mass of P.

[2 marks]
F -ma jzrrtg: Sy

28 = m X 1O
m= O » 2Dk

Turn over for the next question

Turn over p

e
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13 A car, initially at rest, is driven along a straight horizontal road. box

The graph below is a simple model of how the car’s velocity, v metres per second,
changes with respect to time,  seconds.

V A
12w ------- I I

i i

i i

| |

! t )
v 10 20 3N 40 45 t
b e e e O .

| 13 (a) Find the displacement of the car when ¢ = 45
[3 marks]

= ;
ArecLabouo aaas: 2 (10+432) X VD
2 252

l N
Anoa belowy ais > 2 (3)8) =52

cispiacomear = 282 -5 - 200 m

|

!
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13 (b) Shona says: box

19

“This model is too simple. It is unrealistic to assume that the car will instantaneously
change its acceleration.”

On the axes below sketch a graph, for the first 10 seconds of the journey, which
would represent a more realistic model.

[2 marks]
Va
/
/
,!
/
af;
o
/
/
//
et ./r; —
0 10 !
-8
Turn over p
A
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14 A particle, P, is moving along a straight line such that its acceleration ams- 2 at any

time, 1 seconds, may be modelled by
a=3+02t
When ¢ = 2, the velocity of P is kms™"

14 (a) Show that the initial velocity of P is given by the expression (k — 6.4)ms !

[4 marks]

e ()(ld,l:
J

\Y
when t=2, V=K
k.

At ¥0.1t* + C

(o
-‘
(MNP

V= 3L + 0-1t%2+¥ -b6-b9

hen €20, =C , i akd (ol yelodty
.S(t-b-dr)mq‘\

i
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14 (b)  The initial velocity of P is one fifth of the velocity when 7 =2 g
Find the value of k.
[2 marks]
GupA  luatiol — 0.0 =E—&k-%
k=X

Turn over for the next question

Turn over »
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15 In this question, use g =10ms 2

A box, B, of mass 4kg lies at rest on a fixed rough horizontal shelf.
One end of a light string is connected to B.
The string passes over a smooth peg, attached to the end of the shellf.

The other end of the string is connected to particle, P, of mass 1kg, which hangs
freely below the shelf as shown in the diagram below.

Wall

B
&
P
SN | kg > 29
Shelf T
P (kg
|
(O M5

B is initially held at rest with the string taut.
B is then released.
B and P both move with constant acceleration am s2

As B moves across the shelf it experiences a total resistance force of 5N

15 (a) State one type of force that would be included in the total resistance force.
[1 mark]

;Dnchon

n

Jun21/7356/1
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15 (b)  Showthat a =1 s
[4 marks]
f - ma
P — 10-T = | xo
0= T =20
g T-9 = B4
T-5 = &6
5=5a = 3
15 (c) When B has moved forward exactly 20 cm the string breaks.
Find how much further B travels before coming to rest.
[4 marks]

Vl’ u,’)-vQ.a,$
Y% = D+ 2¢e0:2) = O+ |

‘ F:m& "E):L}O\, o= "\026

5% » .4 84 (D=1.96)8

8= e LN
| e =0.9m 4o 1%.0

Turn over »
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|

I ;

|

i

|

115 (d) State one assumption you have made when finding your solutions in parts (b) or (c).

1 [1 mark]

1ne smnﬁ remaint p:umlol Jo o tetble

END OF QUESTIONS

i
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